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1. Let  and  be two vectors of equal magnitude 5 units. Let  be

vectors such that  and . If 

, then value of  is

A. 25

B. 125

C. 625

D. none of these
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Answer: C

Watch Video Solution

2. Let  be vectors and  be a unit

vector in the xy-plane. Then the maximum possible value of

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution
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3. Let  and  are three unit vectors in a plane such that they are

equally inclined to each other, then the value of

can be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution
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4. The coordinates of the mid-points of the sides of , are 

 and  respectively, then the area of  is

A. 

ΔPQR

(3a, 0, 0), (0, 3b, 0) (0, 0, 3c) ΔPQR

18√b2c2 + c2a2 + a2b2

https://dl.doubtnut.com/l/_hFc8gVw8eXjw
https://dl.doubtnut.com/l/_NgDooXWVRvgV


B. 

C. 

D. 

Answer: A

Watch Video Solution

9√b2c2 + c2a2 + a2b2

√b2c2 + c2a2 + a2b29
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5. If  and  then 

A. 3

B. 9

C. 10

D. 12

Answer: A

Watch Video Solution
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6. If  are unit vectors such that 

 and 

, where  are scalars, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution
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7. Let  be a given triangle. If  for any 

,then  is

A. Equilateral

B. Right angled

△ ABC
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C. Isosceles

D. None of these

Answer: B

Watch Video Solution

8. If  are vectors perpendicular to each other and 

, then the least value of  is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution
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9.  are two vectors such that 

 then

find angle between .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution
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10. If  and  are non-zero, non parallel vectors, then the value of 

 equals
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C. 

D. 

Answer: C

Watch Video Solution
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11. If  where, a,b, , then the maximum value of 

 is

A. 25

B. 50

C. 144

D. none of these

Answer: B

Watch Video Solution

a2 + b2 + c2 = 1 c ∈ R

(4a − 3b)2 + (5b − 4c)2 + (3c − 5a)2

https://dl.doubtnut.com/l/_z3O5MP2vBDYI
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https://dl.doubtnut.com/l/_QS8hbeygIW2q


12. Three vectors  are such that  and 

 and . If the angle between  and  is  then 

 is

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

→
a ,

→
b ,

→
c

→
a ×

→
b = 4(

→
a ×

→
c )

∣
∣
→
a ∣

∣ =
∣
∣
∣

→
b

∣
∣
∣

= 1 ∣
∣
→
c ∣

∣ =
1

4

→
b

→
c

π

3
→
b

→
a + 4

→
c

→
a − 4

→
c

4
→
c −

→
a

2
→
c −

→
a

13. If  are position vectors of the vectors A,B,C, of 

 and  (where O is the origin),

then

A. Triangle ABC is right-angled triangle
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B. Angle B is 

C. 

D. The position vector of orthocenter is 

Answer: A::C::D

Watch Video Solution
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